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(28 x 2 marks = 56 marks) ~
For aach question from 1 to 28, four options are given. One of them is the correct
answer. Make your cholce (1, 2, 3 or 4). Shade the cormect oval {1, 2, 3 or 4) on
the Opfical Answer Shest provided.

1. Which of the following statements about bacteria and fungi is/are false?
A They can make food on thelr own,
B They can breakdown dead materials into simpler substances.
C They are tiny micro-organisms that can only be seen clearly under a

D Some are useful to humans as they can be used t make chease and bread.
(1) Aonly '
(2) AandGonly
(3) Band D only
(4) B, Cand D only

2. mmmmmmmmmmm.

(1) _fertiisation sead dispersal

(2) — ”gm seedgermination
(3) ed germination pofination
4 polination fertiisation
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3, Study the diagrams below.

plant reproductive parts
m&mws)Wmmm?A

A Fortiisation happens at part S.

8 Parts P and T produce male reproductive cells,
C A fertiised egg coll will develop Inparts Q and R.

B only

A and B only
A and C only
B and C only

(1)
(2}
3
@

4. Lynstte set up an experiment in & dark room using simiiar waler plarts as shown
below. After the lamp was switchad on, she recorded the number ¢of bubbles given
out by the water plants in beakers A, B and C, for five minutes.

(80 em {20 om {8 cm
fror lamp) from lamp) from lamp}

Which of the following best represents the expected resulls of the experiment?

, Number of bubbles per minute

Beaker A Beaker B Seaker C
{1) 100 850 0
(@) L 80 50
3) g 70 80
“) 10 _60 100

3
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5. Organlmﬂmmthemastaimgbn.ltpmducesagmmmhmtoanach

itsalf to rocks so that i does not get washed off easily by strong waves.

Heidi conducted an experiment to find out how the temperature of water affects
the effactiveness of the glue-like substance that helps organism R attach to the rocks.

The graph below shows her results.
&
Number of organism R
attached to the rocks
I — » Temperature of water (°C)
0 10 20
The table below shows the temperature range of four different coastal reglons
A B, Cand D,
__Location A B ¢ D
Tomperatwre | o4 oc 1, 26C | 10°C020°C | 28°C10359C | 1°C9°C

Which of the locatione A, B, C or D has a temperature that is most suitable for rearing

organiam R?

N
L
e Ro g g

4
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. The food web below shows the food relationships betwsen organisms P, Q and R.
R ¢ p

N

After some ftime, organism 8 moved info the habitat and fed on organisms

P and Q as shown below,
R «—— P \
\1 A

The graph below shows the number of organisms Q over & period of time.

At which point on the graph below did organism S move into the habitat?
4

(2) (3}

Number of
organism Q

(4)
(1)

»Time

5
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7. ‘The diagram below shows a food web.
D

A N
/G""‘"'-*'-* F
H
Based on the food web above, which of the following s comect?
| DG C.EF

%33 AD B,C.H AD,.L
3) AHL _D __ 2
(@) B C.EF 2

8. mmmwwsmamwmmmmonmma

wm\mofﬂnmmmmmmmmmam

(1) PartP helps the plant o make food.
@ mgmgepmgmmwm
Part B
Ei; Part P heips the plant to transport food and water to all parts of the plant.

8
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8. Study the diagram below. Organism A resembles organism B which Is aggressive
and hunis in groups. Predators stay away from organism A as they may mistake
them of organisms B, Organiam A smelis and behaves fike organism B. Organism A
feeds on the young of organism B,

organism A organism B
Which of the following statemsnts is true for organisms A and B?

A Both organisms A and B hunt for the same type of food.
B Omganism B can benefit from this relationship with organiam A,
C Organiam A resembies organism B for protection from predators.
D MMWBMWA&WWMWB

(1) Aand B oniy
(2) CandDonly
(3) A, CandDonly
(4) All of the above

10. Which ofthefom is not an hm&ofdefmmt&ﬁon by cutting trees?

A Acid rain

B Soil erosion

C Loss of habitat

D Smoks and haze

E Increased levels of carbon dioxide

(1) AandD only
{(2) BandConly

(3) A.Dand E only
(4) B,Cand Eonly

7
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Aﬂersomatme, the piants living deep in the river after Point H died.
wnmemmbwmmmeﬁwmmmmmmmam

A} *

Number of
floating plants
a + Distance downsiream
(2) »
Amount of
carbon
dioxide :
lt' — Distance downstroam
(3) +
-' Numnber of
fish in the water
' -—-——f ' - Distance downstraam
H
@ 1
Amount of
nigrients In
the water |
x + Distance downstream
8
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Which of the materials P, Q, R or S is the most suitable 1o make parts A and B of

the bicycla shown below?

(1)
(2)
(3)
@)
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13, Study the classification table below.

14.

BP-58

objects
|
3 ]
X Y
styrofoam | copper plate
ping pong ball ghsswmgowm
Which of the following is possible?
Y v s o | gl
1) | aliow light to pass through | do not allow light to of
E2§ electrical insulators electrical conductors tonrod |
3) broak easily _ do not break easily wooden
4 float on water sink in water iron key

sm&iademmmm“nﬁmmammmmm

mw,mmmmmwhmamm.

Prediction Poles brought close together Result
A Pand S attraclion
8 Pand T repulsion
C Qad S repuision
D Rend U aitraction |

Which of her prediction(s) is/are most likely correct?

(1) Aonly

{2) AandConly
(3) BandD only
{4) B,CandDonly

10
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15. At the start of an experiment, the mass of a sealed plastic bag of air was meastred
using an electronic balance as shown below. The bag was then placed
in the freezer for six hours, afler which, it was faken ot and its mass

186.

was measured again.
| sealed plastic
bag of alr
m,— M
balance 409 hours

e —,

40g

Based on the above experiment, which of the following ls correct?

[ Obssrvations after six howrs |
Mass of alr | Volume of alv Explanation
in the bag In the bag |
(1)|__increase | constant | Some air in the bag escaped info the freezer.
(2) | __decrease constant | Some alr in the freazer entered the bag.
{3) |___constant increass | Airinthe .
{4) {___constant decrease | Alrin the beg contracted.
The diagram below shows a sealed container holding 400 am® of honey and
800 om® of alr. 200 cm® of honey was then removed and 100 om® of air
was pumped into the container,
pump . 600 cm? of air
sealed | ______._____________ 400 cm? of honey
contalner — tap
What is the final volume of air in the container?
(1) 200 om®
(2) 800cm?
{(3) 700 cm?
(4) 800 cm?

11
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17.

18.

The diagram shows a beaker containing equal amounts of two substances E and F,

The same beaker was then placed on a woodsn ramp and the following results
were observed.

Basad on the above resuits, which of these statements are corect?

A Both E and F occupy space.
B Both E and F have no definiie volume.

C E has no definka shape but F has a definite shape.
D E can be compressed but F cannot be compressed.

(1} Aand Conly
(2) BandDonly
(3) A, CandDonly
{4) B,CandDonly

In the diagram below, Henvy is able to see the cat when the celling light remains
switched on.

T

L

Which of the foliowing correctly shows the path of iight that ensbles Henry
to see the cat clearly? -

(1) celling ight -> Henry's eyee -> cat
(2) Wm*fw;gmsm
3 _

%4; wemememm

12
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19.

Al collected wooden objecls E, F and G for an experiment. The dimensions
and shapes of the objects from the front-view are shown below.,

E

et b L L L L L lnlrd—-d-t 2 A RO S A O O M e . e e i

G

The objects were placed in a straight line at positions A, B and C.

roiiin
g
s ¥ ¥ TS
¢ 2 1t scroon
it torch £ 2 - 1
[ I + & [ I ]
[ 2 1 E 2 ) E 2 ]
P ol ]
- - HI i
b s ¥ [ ] & 1
S HEH I t !
[ 2 | [ 2. ] ¥ 1
[ I 1 % x &
g " ' i i i3

The following shadow was seen on the screen.

Which of the following shows the correct position of the objects that will result
in tha shadow shown above?

Position A Position B Position C
(H E F e
(2) E G F
(3} a E F
4) G _ F 3
13
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20, conducted an experiment using the set-ups below. Equal amounts of bolled
wmrmmmmmm.mwmmemmmmm
the freezor. Both containers had the same temperaturs at the start of

uumwmwhmmwmofmmhmmmas
they reach 0 °C in the graph below.

4
100

Temperahire
of water (°C) B

0 : %*me

wanted o along some warm snacks and coki drinks for a picnic.
gzmﬂwwﬁzmmewnmmmmwwmdMEWWMmﬁmr
the longest duration possible. Which material A or B shoukd be used for meking
the conainers for her snacks and drinks?

Material for warm snacks | Material for holding cold drinks

2]
o] >
o> |wi>
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21, The diagram below shows two flasks connected by a glass tube containing

a drop of Ink,

flask Y

Which of the following shows the comect observation after & minutes?

15
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Movement of drop of Ink Direction of hest transfer
1)} towards fiask Y from air In flask Y fo cold fows!
(2) fowards flask Y from alr in flask X to warm
(3) towards flask X from wearm towel 1o air in flask X
(4) fowerds flask X from cold towel fo air In flask Y
22, The table below shows the states of four different substances P, Q, Rand 8§
at differant temperatures. '
| State of matier of the substance
Substance ALZ°C AL80 °C AL100°C

P solid sofid solid

Q fiquid liquid gas

R 8olid Bquid fiquid

8 Boguid gas gas
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23, The diagrams below show fowr containers made of the same material.
Different volumes of tap water at 50 °C were then poured into each container
at the same time. Tha containers were later placed in the Science lab.

500 mi of 1000 mi of 500 mi of tap water | 1000 mi of tap water
tap water {ap water =
SISO
20cm 10¢m
sot-up A set-up C

Based on the above set-ups, which of the following statements is false?

(1) Water in set-ups A and B have the same rate of evaporation.
{2} Water in set-ups C and D have the same rate of evaporation.
(3} Water in set-up B has a lower rate of evaporation than water In set-up D.
(4) Water in set-up A has a greater rate of evaporation than water in set-up C,

24, Each of the circults below condains & steel rod, a rubber rod and a copper rod.

hiy | 1] AL
circult A circult B circuk C
fn which of the above circuii(s) wil R be possible for the bulb to kght up?
(1) Aony |
{2) Bonly
{(3) AandConly

(4) AandB only

16
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25. The diagram below shows a toy. When the roller is tumed, the rubber band
attached to it becomes twisted. When Ronakd released the toy, it moved along the

Ronald conducted an experiment using the toy and his resulls are shown
In the table below.

Number of turns of the roller |  Distance moved by the toy (cm)
3 10
8 19
9 28
12 38

Bmdcnﬁwmmof;kexpemmm@mmumnmdw

{1} The greater the number of tums, the grester the distance moved by the {oy.

(2) Chemical potential energy was converted to elastic potential energy of the foy,

(3) When the number of tums of the roller decreased, the distance moved increased.

(4) Elastic potential energy of the roller was converted to kinetic energy of the toy
to causge & 1o move, :

28. The diagram below shows a structure which can be built at sea fa generale electricity.

the buoy and
the pump

pump connected 10 a generator
fixed base on the seabed

seabed

As the buoy moves up and down with the waves, the pump connaclad to it moves
as well. The movement of the pump causes the generslor to rolste

and generate electroity.

Basad on the information given, which of the following are correct?

A Wave energy is a non-renewsble source of energy.

B The amount of energy generated is not constant alf the ime.

C Kinetic energy of the waves is converied fo electrical energy of the pump.
D This method of generating electricity does not release any hamful gases.

{(1) Aand C only
{2) BandDonly

(3} A,BandDonly
{4) B,CandDonly

17
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27. Which of the following statements about mass and welght is true?

28 L]

(1) Waight is the amount of mafter In an object.

(2) Mass is the amount of force acling on an object.

{3) Mass can be measured using a weighing balance.

{4) Weight of an object remains unchanged on Earth and on the Moon,

Martha conducied an experiment using & 3 cm spring. She hung a 10 g mass
on It and measured the length of the spring. She repeated her experiment with
masses of 20 g. 30 g and 40 g and recorded her results in the table shown
below.
Mass 10 20 30 40
|_Length of spring (cm) 5 z T B
She then plotted her results on a graph.
Which one of the following graphs best represents Martha's results?
(1) R @ .
' 121
rre] 10+
of spring 87
{om) 6-
4-
2—-
» ]
0 40 20 30 40
{(3) .
12-
Lenatt 0‘10*'
spring (cm) i"
4..-
2- 2
0

18
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44 marks
quuosﬁo‘m%hﬂ),mﬂeyommshmmmmwfmamsmﬁabh

18 showr! in the brackets at the end of each question or part question.
28. Mary conducted an axperiment in a garden using the set-ups below.

sat-up B

Shemmaadmbeunmmmerafewmhmmmomd
the number of bees that had landed on sach paper disc.

{a) Her teacher sald that the experiment was unfair. Explain why. 1

BP~68

uggest change she can make to one of the set-up(s) above
) zenm:fairemmnm. {1}

hﬁaryfoundtmﬁowersRandsinmgaﬂmasshownbebw;

(c) Which flower, R or S, is most ikely to be pofinated by wind?

Explaln your answer.

2
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30. Plants use light energy to make food.
{a) State the part of a plant celi that aflows & fo make food. [1}

Ken set up an experiment as shown below. He wanted to find out if carbon dloxide
is naeded for photosynthesis. He first placed the set-up In a dark room for a day
before putting it under bright sunlight for & hours. He then tested a leaf of the plant
for starch.

(b) Give a reason why Ken firet placed the set-up inadarkroom. ' [1]

{¢) Suggest a control set-up that Kan can use for his experiment, i1

(d) Other than the amount of light and carbon dioxide, state ona other factor
that would affect the rede of photosynthesis in plant A. [1}

3
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31. Jia Ling observed that plants Q and R can be found In the same pond.

plant Q —
_ 47A”‘
Y f plant R

Shembdbmdomtfanmmhmapomaonofpkﬂﬁwmﬂdm
the poputation of Plant R. She set up an experiment as shown below.
The set-ups were left under bright light for a week.

{1]

mother sald that her experimental set-ups do not allow her
® g“mmwmmswmmaammmmw
Wlmwmwmwmmm. 1

mﬂmmpemmmmtafwmmﬁmmwrﬁtmmw
© do 1o incraase the reliability of her results? 1]

4
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32. Study the food chain shown below.

C—» Dot E—pF

{a) What does a food chain show? [}

BP-71

mmmmmmmmemmmaéma
received in the food chair above.

F

Amount of
~ anergy
received

{units)

Type of organiem
p € F

(b} Basad on the graph above, give a reason the amount of anergy
receivad by each organiem decroases. e (1

5
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33. The diagram below shows organisms A and B. The two organisms depend on each
other for survival.

antennae of organism A

The table balow shows some characteristics of organism A.

Characteristics of organism A
¢ has poor vision
» has strong claws, with one slightly bigger than the other
+ can dig and maintaln a burrow for hiding from predators

» mmmmm_@mmasmwmamw

{a) Based on the information given above, state a behavioural adaptation that
aflows organism A to survive in its environment. [1}

‘The table below shows the characteristics of organism B.

Cheracteristics of organism B
o has very good vision
o usos the burrow for mating
« usually found guarding the burrow
+ hides in burrow when it senses danger _
» can fiter out sand from the food it eats using its gills

Based on the information above, state a stnuctural adaplation that
® mggamamm»m 1]
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{c} State one way in which organisin B couki benelR from its relationship with
organism A. {1

{d) Ommawym&ﬂdsamammmmmﬁof
organism B a0 that it can track when organism B hides inside the butrow.

Explain how this might benefit organism A. [21

7

B
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34, The diagram below shows a new factory located next to a forest.

(@) The bark of the trees In the forest was fight in colour. Afier saveral years,
they became darker in colour. Based on the diagram above, suggest
a reason for this observation. 1]

MXWYMWMmmmMoSMhMW‘

Rght-coloured
bark of rees

The graph below shows how the popuation of maths X and Y has changed over a
mmmMmemmmmmsmum

F 3

Size of

population
{units)

be ¢ B R R e
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(c) Explain your answer for moth Y in part (b). (1]

35. Rashid conducted an experiment in a dark room using the set-up below. When no
material was placed at position X, the light sensor detected a reading of 150 units,
Material E was then placed at position X-and the reading was taken.

: to datalogger

/T

- X
He later repeated the experiment using matertals F and G and recorded his resuits
in tha table below.
_Material | Amount of fight detected {units}
. 100
5
48

Gynim

(a) Based on the results, arrange matedals E, F and G according to thelr
fransparency. [}

allows least amountof , 2llows most amount of
light to pass through Hght to pass through

(b} Medicine P spoils easily whan exposed to bright light.
part K

bottle containing medicine P

Which material E, F or G should be used to make part K of the bottle
above? Explain your answer. (2}

B
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36. Thedlagmnbaiowﬂmhowaharﬁemmdatwparks.

{a) Name a metal that is suitable for making metal rod X. 1

When the switch was closed, it was observed that the banier rotedes about point P
mmbmumwmm&mewpmm _

-~

m |
o

{b) Steta a property of magnets that aflows the above observation to happen. ]

ommmmmmmwmnesmmmmpack.
) mmmmmmmrmwmmnm

switch Is closed. {1]

BP-76

10

More papers at www.testpapersfree.com



37. Dan poured an equal volume of cold water into two glagses X and Y. Glass X only

maWMQMWMYMaWWM&erM
air trapped as shown below.

(a} In which giass, X or Y, will the temperature of water be lower afler
45 minutes? Explain your answer. (2}

(b} State ons variable that must be kept constant for the experiment ta be fair,  [1)

Dan wanted to buy a winter jacket.

jacket J jacket K

(¢} Which jacket, J or K, shouki he choose if he wants to keep himself wam
for a longer pariod of time? Explain your answer, 1]

BP-77

11
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38. Raju meacnwhodtoemametalhay.ﬁeﬂwnleﬁﬂnkaymﬂhtheopm
AﬁgammmmMmmmwmmmm

(a) Explain how the white mist was formed. (2}

conducted an experiment using the set-ups below. He placed equal amounts
mmmmmmmmmeddmmmmmx

1o the crushed ice in both set-ups.

jp =
sat-up X

aushediminho&sﬂmmﬂedwmmmﬂmmmﬂmw
Mhmhcﬂhd&hradwaﬁonﬁiﬁmmmmﬂesm
in the graph below.

Py set-up Y
720} T Sy

Volume of water
collected {(ml)

g
§

(b) Stete a possible aim for his experiment. [4]

12
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(c) Based on the graph, what is the relationship between the amount of
salt K added to the crushed fce and the volums of water coliected? 1]

mmmmmmmmwm:w«m
He used equal amounts of crushed Ice for both set-ups.

“setup Y .
{d) Based on the above sel-ups, stale the changed variable for this
axperiment,

(1

BP-79
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1shawsﬁ%efrom-viewofKen‘stoypoﬁoew.Hesetsupranalectﬂc
%. m;‘Mbyummea.aWSaMsommmasm

mmzﬂmeammammmmmmm

bhy  gee

£
\sh‘ens
O 0] )
diagram 1 diagram 2
{a) Mondmmzwmmmmmmmmis .
closed? Explain your answer. %)

{b) mmwamammmmmamm
dlagram 2. 1}

Ko mwwmmmmmamﬁmm
mmmmmmmsm.

{c) mmmw.mmmmmmmmmms ,
suggestion can be done. i1l

IQQ

i}
-

14
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40. The diagram below shows a water feature in playground A.

metaipipeta/ﬁ
pump water ‘

L cortainer of water
aliowed 1o rotate
about a pole

Sm
| ground
playground A

The container is slightly tited forward and aliowed to rotate about a pole attached
to it. A metal pipe fills the container with water. When the water s filled to the brim,
i tips forward and empties the water onto the ground below.

* (8} State the main energy conversion that has occurred in the water
the container tips forward. : 1]

energy of water energy of waler

The diagram below shows a simiiar water feature in playground 8. Katy noted that
the confalner in playground B was smaller than that In playground A and contained
leaser amount of water.

matatpmw/ﬂ -
pump water by %W L container of water
: allowed o rotate
8m about a pole
; ground
playground B

{b) Which ocontainer of water, the one in playground A or the one In
playground B, woukl result in the water falling ot a greater spead?
Explain your answer. (1]

18
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41.

(a) Whatls aforce? Ml

madmmbemmwsapammmmmmmmmm
tomegmundaﬁﬂhehes]mpedoffaplane.maparachutehemshmm
to the ground siowly.

parachute

mgraphsbowsmeohangehfusspeadoffaﬁmfromﬁ\etimahe]wnpedoff
ﬂ:aplanamﬁhesafelyiamedmawmnd.

4

BP-82

L
Speed of
' K

falling through
the air

{m/min) M

0 »Time taken (min)
(b} Atmmmmegmphx,LorM.didmapammmW
his parachute? Explain your answer. 2]
END OF PAPER

16
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SCHOOL : CHIJ PRIMARY SCHOOL

LEVEL

PRIMARY 6

SUBJECT :  SCIENCE

TERM 2022 PRELIMS
SECTION A
Q1 Q2 Q3 Q4 Q5 Qe Q7 Qs Q9 Q10
2 4 1 3 2 3 4 3 2 1
Q11| Q12 | Q13 | Q14 ([ Q15 | Q16 | Q17 | Q18 | Q19 | Q20
2 2 4 2 4 4 1 2 3 4
Q21 | Q22 Q23 | Q24 | Q25 | Q26 | Q27 | Q28
1 1 3 3 1 2 3 1
SECTIONB
Q29) | a) There was more than one changed variable that are the presence

of
paper petals and presence of drops of honey.
b) Add four drops of honey to the paper disk in B, add 5 similar
paper
flower petals to set-up B. _
c) S. As both anthers and stigmas are hanging out of the flower to

allow the wind to carry the pollen grains from the anther to the
stigma. '

Q30)

a) Chiloroplast

b) To destarch the plant before the start of the experiment.
¢) A similar pot with similar plant A in a similar sealed glass
container

but without the substance to remove carbon dioxide.

Pgl
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d) Amount of water available for plant A / temperature of
surrounding

air.

Q31)

a) When the population of plant Q increases, the population of plant
R
decreases.
b} Change all the containers to opaque containers.
¢) Increase the number of plants Q used for the experiment.

Q32)

a) A food chain shows food relationship between organisms.
b) Some of the energy is being used by the organisms for life

processes.

Q33)

a) A can dig and maintain a burrow from hiding from predators.

b) B has very good vision.

c) B has a place to use for mating.

d) Using its antennae to touch B's tail, A can know when there is
danger as B would hide in the burrow when B senses danger this

can help A, who has poor vision, to stay safe from predators.

Q34)

a) The bark of the tree became darker as they were covered by the
black dust particles found in the smoke given by the factory.

b) Moth Y
Moth X

c) As the bark of the tree became darker over the years, the darker
moth Y would blend in.

- Q35)

a)

F G E

b) F as F allows the least amount of light to pass through so that
medicine P will not spoil easily.

Q36)

a) Nickel

b) Like poles of magnets repel each other when they face each other
directly.

c) Increase the number of coils of wine around metal Rod X.
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Q37) |a)Y asairinglass Y is a poor conductor. The cooler waterin Y

gains
heat slower from the warmer surrounding air as compared to the
water in X.

b) Temperature of water in both glasses at the start.

¢) K as K contains a thick layer of cotton which traps air which is a
poor heat conductor. Thus his body will lose heat slower to the
cooler surrounding air.

Q38) | a) Warmer Water vapour in the surrounding air (correct source)
touchers the cooler air above the crushed ice, loses heat and
condenses to form tiny water droplets known as mist.

b) To find out it the mass / amount of salt K added to the crushed ice
affects the volume of water collected.

c) The greater the amount of salt K added to the crushed ice, the
greater the volume of water collected.

d} Type of salt added to the crushed ice.

Q39) | a) Yes. When the switch is closed, the circuit becomes closed and
electricity can flow through the circuit to light up both bulbs and
siren.

b) series
c}
oo 1 & ‘_ /x’
@w%%
<
Q40) | a) gravitational potential —» Kkinetic

b) A, although both containers are at the same height of 5m above
the

ground, container A has a greater mass of water. More
gravitational

potential energy of water in A is converted into more kinetic
energy

of water in A resulting in water in A falling at a greater speed.
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Q41)

a) A force is a push or a pull.
b) L, as point L, his falling speed started to decrease as when he

opened the parachute, there was greater air resistance.
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